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1. EBKR LOBET
SFITHESH 20 A
B[S g R | K| W R
(em) | (em) | (em) | (B | (B) | (GF)
__________________ PEARL 148.4 345 |28.1 | 6.0 |10.6 | 2.1
75 42 86.1 |47.4 139.8 | 5.9 | 6.1 | 0.2
____________________ Vi | 91.3 |50.5 |40.1 |59 |65 | 0.4
K H 57.8 | 41.1 [29.7 | 5.4 | 6.1 | 0.4
aAR 80.4 |49.5 [39.5 | 5.3 |40.3 | 17.5
SFITHEEEY | 72.8 | 44.6 |35.4 | 5.7 |13.9 | 4.1
SFICEREEY) | 84.7 | 47.7 |34.5 | 4.3 | 7.9 | 2.4
BEIVERTES] 78.0 | 46.4 |34.6 | 4.5 | 7.3 | 4.4
HIEE (64F) xtEb| 86.0% | 93.5% |102. 7% | 132. 6% | 176. 2% | 171. 7%
1O 6k | 93.3% | 96. 1% | 102. 4% | 126. 7% 190. 7% | 93. 6%
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J\ZES T IEOHROFEPREMENLTVET | SHEH
BAFEESNTZA, EIECEBNER(CIAD T ENRAENFT |
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7 TS INAE
o TE= INE 7 E87 | 5
7+ A2 AXAAHHE 2,000 /& 1,910
E£T B 100
JI\NAE>>IND 0
XX ASE IV 7 B | 2=
JLAZOF7ZII)L 1,000 15 1,050
JI\XE>I MDD x7T BA
A AT A N 7HBI| 2@ [ 250
v oJoar77) 2,000 /& 4,700
4 NZEYTRY *=T B | me
EXTAZA >m | 100
5+ 773 SC 2,500 /& BIHZET 3,370
71/ J\RE>T R & Al B | me M
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